

Name

Faraz Ahmed

I-D

7751

Section

"C"

Department

Bs-civil

Subject

Differential
Equation.

Submitted To

Mam Shomaila
Mazhar

ID#7751

* QNo#01 *

$$\frac{dy}{dx} = e^{x-t} \sec(y) (1+t^2) \quad y(0) = 0$$

Solution :-

$$\frac{dy}{dx} = \frac{e^y}{e^t} \times \frac{1}{\cos y} (1+t^2)$$

$$\text{or } e^{-y} \cos y dy = e^{-t} (1+t^2) dt$$

Integrating both side :-

$$\therefore \int e^{-y} \cos y dy = \int e^{-t} (1+t^2) dt \rightarrow (i)$$

By Parts.

$$\therefore \cos y \cdot \frac{e^{-y}}{-1} - \int \sin y \cdot \frac{e^{-y}}{+1} dy = \int e^{-t} (1+t^2) dt$$

$$= -e^y \cdot \cos y - [-\sin y \cdot e^{-y} + \int \cos y \cdot e^{-y} dy] =$$

$$\int e^{-t} (1+t^2) dt$$

ID#7751

$$\Rightarrow -e^{-y} \cdot \cos y + e^{-y} \sin y - \int \cos y \cdot e^{-y} dy = \int e^{-t} (1+t^2) dt$$

$$\Rightarrow e^{-y} (\sin y - \cos y) - \int \cos y \cdot e^{-y} dy = \int e^{-t} (1+t^2) dt$$

From equation (i)

$$\Rightarrow \int e^{-t} (1+t^2) dt = \int e^{-y} \cos y \cdot dy$$

$$\text{So } e^{-y} (\sin y - \cos y) - \int e^{-t} (1+t^2) dt = \int e^t (1+t^2) dt$$

$$\Rightarrow e^{-y} (\sin y - \cos y) = \int e^{-t} (1+t^2) dt + \int e^t (1+t^2) dt$$

$$\Rightarrow e^{-y} (\sin y - \cos y) = 2 \int e^{-t} (1+t^2) dt$$

$$\Rightarrow e^{-y} (\sin y - \cos y) = 2 (1+t^2) \frac{e^{-t}}{-1} + \int 2t \cdot e^{-t} dt$$

$$= e^{-y} (\sin y - \cos y) = 2 \left[e^t (1+t^2) + 2 \left(t \frac{e^{-t}}{1} + \int e^{-t} dt \right) \right]$$

$$= e^{-y} (\sin y - \cos y) = 2 \left[e^{-t} (1+t^2) + 2 \left[t e^{-t} - e^{-t} \right] \right] + C$$

$$= e^{-y} (\sin y - \cos y) = 2 \left[-e^{-t} - e^{-t} \cdot t^2 - 2t \cdot e^{-t} - 2e^{-t} \right] + C$$

$$= e^{-y} (\sin y - \cos y) = 2 \left[-3e^{-t} - t^2 \cdot e^{-t} - 2t \cdot e^{-t} \right] + C$$

$$= e^{-y} (\sin y - \cos y) = -2e^{-t} [t^2 + 2t + 3] + C$$

Q NO # 02 ★

Solution ★ :-

$$(\sqrt{x+y} + \sqrt{x-y}) dx - (\sqrt{x+y} - \sqrt{x-y}) dy = 0$$

$$\frac{dy}{dx} = \frac{\sqrt{x+y} + \sqrt{x-y}}{\sqrt{x+y} - \sqrt{x-y}} \rightarrow (i)$$

This is Homogenous differential equation in x and y to solve

this put $y = vx$

$$\Rightarrow \frac{dy}{dx} = v + x \frac{dv}{dx}$$

Thus the equation (i) become.

$$v + x \frac{dv}{dx} = \frac{\sqrt{x+vx} + \sqrt{x-vx}}{\sqrt{x+vx} - \sqrt{x-vx}}$$

$$v + x \frac{dv}{dx} = \frac{\sqrt{1+v} + \sqrt{1-v}}{\sqrt{1+v} - \sqrt{1-v}}$$

$$v+x \frac{dv}{dx} = \frac{\sqrt{1+v} + \sqrt{1-v}}{\sqrt{1+v} - \sqrt{1-v}} \times \frac{\sqrt{1+v} + \sqrt{1-v}}{\sqrt{1+v} - \sqrt{1-v}}$$

$$v+x \frac{dv}{dx} = \frac{1+\sqrt{1+v} + 1-\sqrt{1-v} + 2\sqrt{1-v^2}}{2v}$$

$$v+x \frac{dv}{dx} = \frac{2(1+\sqrt{1-v^2})}{2v}$$

$$x \frac{dv}{dx} = \frac{1+\sqrt{1-v^2}}{v} - v$$

$$x \frac{dv}{dx} = \frac{1+\sqrt{1-v^2} - v^2}{v}$$

$$x \frac{dv}{dx} = \frac{\sqrt{1-v^2}(1+\sqrt{1-v^2})}{v}$$

$$\frac{v dv}{\sqrt{1-v^2}(1+\sqrt{1-v^2})} = \frac{dx}{x}$$

taking Integral on both side.

$$\int \frac{v dv}{\sqrt{1-v^2}(1+\sqrt{1-v^2})} = \int \frac{dx}{x}$$

$$\text{Put } 1 + \sqrt{1-v^2} = t$$

$$\Rightarrow \frac{1}{2} (1-v^2)^{-\frac{1}{2}} (-2v) dv = dt$$

$$\frac{v dv}{\sqrt{1-v^2}} = -dt$$

$$\int \frac{-dt}{t} = \int \frac{dx}{x}$$

$$-\ln t = \ln x + \ln c$$

$$-\ln (1 + \sqrt{1-v^2}) = \ln cx$$

$$\cancel{\ln} (1 + \sqrt{1-v^2}) = \left(\frac{1}{cx}\right) \cancel{\ln}$$

$$1 + \sqrt{1-v^2} = \frac{1}{cx}$$

$$1 + \sqrt{\frac{x^2 - y^2}{x^2}} = \frac{1}{cx}$$

$$x + \sqrt{x^2 - y^2} = \frac{1}{C}$$

$$x + \sqrt{x^2 - y^2} = C_1 \quad \therefore \frac{1}{C} = C_1$$

That is Required Solution.

Root are Real and Complex

$$y_c = C_1 e^{ax} + e^{ax} (C_2 \cos x + C_3 \sin x)$$

$$y_c = C_1 + C_2 \cos x + C_3 \sin x$$

$$y_p = \frac{1}{f(D)} Fx$$

$$y_p = \frac{1}{D^4 + D^2} (3x^2 + 4\sin x - 2\cos x)$$

$$= \frac{3x^2}{D^4 + D^2} + \frac{4\sin x}{D^4 + D^2} - \frac{2\cos x}{D^4 + D^2}$$

$$f(D) = D^4 + D^2$$

$$\text{at } D=0 \Rightarrow f(D) = 0$$

$$\text{So } f'(D) = 4D^3 + 2D$$

$$\text{Now also for } D=0 \Rightarrow f'(D) = 0$$

again differentiating.

$$f''(D) = 12D + 2$$

So for $D = 0$

$$f''(0) = 12(0) + 2 = 2.$$

So replacing $\frac{1}{f(D)}$ with $\frac{x^2}{f''(D)}$

$$\Rightarrow y_p = \frac{x^2 \cdot 3x^2}{12D+2} + \frac{x^2}{12D+2} \cdot 4\sin x - \frac{x^2}{12D+2} \cdot 2\cos x.$$

Putting $D = 0$ in all

$$\text{So } y_p = \frac{x^2 \cdot 3x^2}{12(0)+2} + \frac{x^2 \cdot 4\sin x}{12(0)+2} - \frac{2x^2 \cos x}{12(0)+2}$$

$$y_p = \frac{3x^4}{2} + \frac{4x^2 \sin x}{2} - \frac{2x^2 \cos x}{2}$$

$$y_p = \frac{3}{2} x^4 + 2x^2 \sin x - x^2 \cos x$$

So

putting in equation (i)

$$y = C_1 + C_2 \cos x + C_3 \cos x + \frac{3}{2} x^4 + 2x^2 \sin x - x^2 \cos x$$

$$y = C_1 + (C_2 - x^2) \cos x + (C_3 + 2x^2) \sin x + \frac{3}{2} x^4.$$

